302-009-002

g_n
N RNA

aaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaa

J
23-11-2020 / Rev.: B



302-009-002

(1:70)

738

MAX cm MAX

ot

— 1835

2980

1303
]\\ — 1211

—

| 800

i

EN 1992-1-1

5060

1650
2500

1500

P\
y

(1:60)

1500

1500

9771

10h 37m? 9,7x4,4x3m ~31kg

(]
olig]d)

)

~0,25m° @6x443cm 70kg

NORNA PLAYGROUNDS A/S - Virkefeltet 1, DK-8740 Braedstrup * Phone +45 7575 4199 « mail@norna-playgrounds * norna-playgrounds.com Y,

This drawing is the property of NORNA PLAYGROUNDS A/S and pursuant to current legislation may not be copied, transferred to or used by any third party. Should this drawing be used,
a fee of 10% of the assumed contract price will be charged.



RS00270

D11403

Parts List
QTY PART NO DESCRIP.
1 D11402 B180x3490mm, assembled
1 D11403 3180x3490mm, assembled
1 D11404 #200x3250mm, assembled
1 D11438 Block/chain 90cm
1 D11439 Block/chain 90cm
1 D11496 Taifun
2 D11614 @120x650mm, assembled
4 RS00270 @120x650mm
1 S12055 Taifun
1 SR00109 Left ladder frame
1 SR00110 Right ladder frame
1 SR00111 Left ladder frame
1 SR00112 Right ladder frame
1 SR00116 @60mm

302-009-002

SR00116

D11496

D11404
/
D11439

D11438

SR00111

SR00112



302-009-002

350

350

(1:60)

2700
4200
5373



302-009-002

LE16085
LE16156

LE16065

LE15249

LE16556

LE16071

LE16167

LE16167

LE16056

Q

Parts List

QTY PART NO DESCRIP.

2 LE15249 M16x150 mm

2 LE16053 M8 cap nut

12 LE16054 M10 cap nut

LE16056 M12 cap nut

2 LE16065 M8x45mm

1 LE16071 12x40 mm

‘V
o .
m -
F’ |
P

worth
4 LE16152 M16 - @30 mm oy
24 LE16156 M10-320 0 NORNA 100g
5 (LE16604)

LE16167 M12 - @32 mm

Lubricating paste

|
12 LE16085 M10x70 mm I
|
2 LE16556 @42/38mm |

SR00147 M16x157/60




LE16054

302-009-002

LE16156

LE16156

Parts List
QTY PART NO DESCRIP.
15 LE13100 Shackle
2 LE15249 M16x150 mm
2 LE16053 M8 cap nut
12 LE16054 M10 cap nut
1 LE16056 M12 cap nut
2 LE16065 M8x45mm
12 LE16085 M10x70 mm
4 LE16152 M16 - @30 mm
24 LE16156 M10-@20
15 LE16502 Spacer 6mm
2 LE16556 @42/38mm
2 LE16599 Sealtite 970 1,5 ml (Glue)
2 SR00147 M16x157/60

LE16152

LE15249

LE16556

LE16152

LE16053

LE16599

LE13100

LE16502

“ & " NORNA 100g
I &) (LE16604) |
Lubricating paste




302-009-002

LE13100

LE15901

QTY PART NO

DDDDDDDD

SSSSSSS

aaaaaaa

mmmmmmmmmm

LE16599

LE13100

LE16502




